3000 AANE 3200 AGAAANL 3210 AGAAMLE 3211 AFAFAFAE 110 <lE] 101 <1zH]
e =5
o AF o At = 7] *
Alg A A & =
2181 7 4 1] 999,461 [[% 420,000 = 50,400 Al 529,061 ]
173%% 188,661
}?}%H] 19,300
}?ﬁnﬁﬂl 19,300
14,974 {09 4 &2l
O=7F2AF 499 Q1Y) (=14,974)
— 7|5 29,480%1 * 17 * 2504 = 7,370
— o= 7,370,000 = 1/3 = 2,457
- FEFETd 29,4809 * 17 * 525 = 1,533
—AAFETE 29,4809 * 154 = 443
— A7k e 3,179 * 35A1ZF * 129 = 1,336
— 3244 6,000 = 209 = 12¢ = 1,440
— 2] S$-7) M u] 13,139,0009) * 3% = 395
4,326 |10 LAIAF Q1S
OAZ7] A713A k8.4 1xv] (2| 13])
36,0509 * 4% = 30 = 4,326
Fya—. 169,361
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3000 AAMNE 3200 AGAAANL 3210 AGAAMLE 3211 A FAGA L 120 A4A7dn 201 LRE9H)|
e =5
o AF o At = 7] *
Alg Al Al & =
%e(‘)*li%f’éﬂ 64,601
64,601 [01 Lu+-e-<3n]
OLrkEgH] FoA o4t (=51,401)
— A ukg=g-v] 18,701,0009) = 18,701
-+ 9,000,000¢) = 9,000
— 5 &H| 8,100,000¢] = 8,100
— a8 12,000,000 = 12,000
— A A ]S A] 1) 3,600,0009 = 3,600
OF7Fa 8 <8 (=13,200)
— AP AR Tl FRE A%
10,0009 = 50% = 79 = 3,500
A7 FaAd8 F435 A4 50090 * 5,000t = 2,500
—AF7] 713} TERE AR 60,0009 * 207 = 1,200
— 3o F AAAAA TEAA A= 20,0009 = 300+ = 6,000
%g%] 28,600
28,600 |01 =ujodH]
O7)EPFE =R jn) 150,000 * 129 = 1294 = 21,600
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3000 ZAAME 3200 AGAANLT 3210 AGAAMLE 3211 A FAA A 120 7A74A7y 301 LARkRAE
il - o AF o At = 7] *
Alg A4 g =
10,000 {07 T17FQl=1<] oI N
Oz A HsEA 8=t s 10,000,000 10,000
16,840 |10 YA B] BAFH
Osdd FAM= 1A (=10,600)
—AAEE FdE BXAE AR B
15,0009 = 120 = 2¢ 3,600
A= TAF AN FA A FodA A
200,0009) * 357 7,000
OFE AL8F TATHLs A F20H]
6,000 * 207 * 23] 240
O&dEdufY 28] wE8] 10,0009 * 300 = 28 = 174 6,000
25,920 |12 7|} RAFH
OE7txA BUHadd &% w2 200,000 = 1078 * 12 24,000
OA AR AL AEzA1ed S5 24
16,0009 * 107 = 123 1,920
2&% a2 810,800 |[= 420,000 & 50,400 A 340,400 ]
%Hi%s A 744,800 |[= 420,000 & 50,400 A 274,400 ]
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3000 7 A AN 3200 A <A A Nt 3210 A H A Nt 3211 A A A 210 HEAY 201 Qut

Mo
o2
=

E‘ -
ﬂ - o Ak o A = 7] X

A% AR &

201 4,800 |[% 2,400 A 2,400 ]

ol w29 v

4,800 (01 Lur-g-<dn)

O dAANAIZ SR FUF U 16,0001 * 3007 = 4,800
[% 2,400 A 2,400 ]

307 40,000 |[= 8,000 A 32,000 ]

1 7ko] %)

40,000 |02 M7 AR Z

OEAA FdE Aaaen 2,500,0009) * 16712 = 40,000
[= 8,000 A 32,000 ]

401 0,000 420,000 %= 40,000 Al 240,000 ]

A5 7 o] 700000 1=

700,000 |01 A] A4
OZ AN FZF=21F 2 A ALY 500,000,000 = 500,000
[ 300,000 A1 200,000 ]
OZAAN A o}Alol = B 200,000,000 = 200,000
[ 120,000 = 40,000 A] 40,000 1
220 66.000
AR AR
307 61,000
w1 7ko] %)
46,000 |02 U7 AAAHZ




3000 ZAAME 3200 AFAAMNE 3210 AGAANLE 3211 A GAA B 220 AFAALY 307 Wzko] A
7} =
o Ak of 2k = 7] B
Algk A A 3¢ 5
OAIA 7 o FMd FEv] 2 2,000,0009 * 2174 = 42,000
OMEEEAZEAL3] +9 Ad 400,0009) * 103] = 4,000
13,000 |04 MIZFEPAH 2= - 9
OA23] A FaFH4Z 3] 7| 10,000,00091 = 10,000
O7Fobdd 9 1% - 33 ZHAE /N3 3,000,0009] = 3,000
2,000 |05 FIZFQIEF
OB AA] v 2l AAA] ¢ 1,000,000 = 23] = 2,000
401
A 2,000
5,000 |03 Al F-tin
OFFAAAE T2 A A1 F-d ] 5,000,000 = 5,000
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